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05 OCT 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM
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BILINGUAL

05 OCT 2022
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October 2022

12 OCT 2022 19 OCT 2022

10:30 AM to 12:30 PM
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SSC ONLINE LIVE CLASS

10:30 AM to 12:30 PM
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BILINGUAL BILINGUAL

19 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

26 OCT 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL
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486 = 3° +\3/z197 -6%x5 =72

A.l
B.4
C.9
D.3
E.7



(V225 x 24) = 45 + V625 = ?

A.31
B.38
C.35
D.33
E.41



3+25x8=?2+12x%5

AWAE
B.225
C.245
D.255
E.235



45% of 900 + 55% of 700 = 66% of 400 + ?

A.374
B.424
C.472
D.526
E.556




336 ~ 24 x V343 + () = ?

A.151
B.157
C.161
D.167
E.147




30% of (20x15) - 2 = 42 x 30 + 8

AWAQ
B.15
C.25
D.30
E.45



J(@B89 + 32) + 5 — (49x2) = ?

A.55
B.36
C.38
DAY
E.NOT



(13/11) x 143 + (12)° = 8 + 2?2 = (20)°

A.13
B.14
C.15
D.16
E.17



(V676 x5) + 13 + 12 x 5 = 2

A.65
B.70
C.75
D.80
E.60



1250 = 25 of 50 x 2 + 300 = 15 x 3 = ?

AWAS
B.62
C.73
D.54
E.NOT



6x% — 23\3x + 60 = 0

2y +3\3y—15=0




35x* +13x—-90 =0

7y? + 24y +20 =0




2+ 8\V3x + 45 = 0

3y’ +27y +60 =0




20x* - 71x + 63 =10

10y? — 43y + 45 =0




4x*+17x-15=0

6y2 + 19y — 20 = 0




10, 15, 25, 40, ?, 85

A.55
B.65
C.50
D.70
E.60



10, 11, 15, 24, 2, 65

A.42
B.45
C.48
D.35
E.40



S, 6, 14, 45, ?, 925

A.200
B.150
C.184
D.188
E.176



137, 95, ?, 45, 33, 27

AWAS
B.60
C.65
D.53
E.NOT



12, 23, 45, 89,

177,

2

A.575
B.473
C.343
D.353
E.NOT



The average of a few numbers is 48. If 75%ofthe numbers are increased by 4 each and
the rest are decreased by 6 each, then what is the average of the numbers, so obtained?
HS TEATAL T 3T 48 71 AT 75% AT W & Tk | 4 hY Fqfeg hY ATelt & TR I H
T | 6 hT HHT hHT ATAT 2, q1 ITH AT T 30Td 4T 82

A.53
B.49
C.49.5
D.46
E.NOT




A spends 40% of his salary on food items, 20% of the remaining amount on

entertainment and 20% of the remaining amount for paying various bills. If he saves
Rs.24,000, what is his total salary?
A 3TUH Ad T 40% TATET USTAT U, I TIOT T 20% ATRSAT U 3T I TI9T hT 20%

farfer= fareTt o raTr ot Tt ST 2| 9 9F 24,000 T SATAT 2, AT IHRT et oA T
2?2

( 1) A.Rs. 60,500
-’ B.Rs. 72,000
C.Rs. 65,500
D. Rs. 62,500
E.Rs. 72,500




A train passes a pole in 20 seconds and a bridge in 60 seconds. What is the length of the
bridge, if the length of the bridge is 50 m more than the length of the train?

TSk (TS Ueh TP T 20 HERUE H AT Teh UeT i 60 TRV H UR el g1 TS chl AaTe

T 3, F Tt oY TS 3 o TS & 50 HieR R 32

A.100 m
B.25m
C.35m
D.45 m
E.NOT



The sum of three numbers is 4425. If the ratio of first to the second numberis 4 + 3 and
second to the third number is 6 ¢ 11, then what is the third number?

I EREATSAT ST AT 4425 2 AT Ugelt & Tf H@Ear w1 AT 4 £ 3 3 AR ol ot ey
HEAT & AT 6 : 11 &, AT e T w32

A.1452
B.1947
C.2241
D.2052
E.1/85




A deposited an amount of 950rs at Compound Interest. The amount gets doubled of
itself after 4 years. What will be the amount after 12 years?

A T TSha g SATS WX 950 FU ShT TIVT STHT il 4 TTE I1g I 7Y 7T FOTHT B¥ ATt 2
12 BTt &g feha=t TieT gt

A.Rs. 8600
B.Rs. 7600
C.Rs. 7700
D.Rs. 6600
E.NOT




The marked price of an article is Rs. 15,000. After allowing a discount of 18%, the
profit earned is Rs. 300. Marked price is how much percent more than the cost price of

the article?

Teh o T 3iToRd T 15,000 T9X 81 18% h B o o A1E, ATAd 1w 300 T 71 3ifera
ol o] o A Hed O Toha TfaoTa 3Tferes 82

A.50%
B.35%
C.30%
DAY
E.20%




The ratio of spirit and water in solutions in vessels A and Bare3 :4 and 5: 9,
respectively. The contents of A and B are mixed in the ratio 2 : 3. What is the ratio
of water and spirit in the resulting solution?

AT A SR B % °IeT W e 31 UTHT ST STTUTA SHATT: 3:4 37X 5:9 Bl A 3R B &Y

TTAIT T 2:3 o FTUTT H THATIT ATAT 2| TRUTHT Ot # ar=t 3R e st SAquTd
FTE?

A.43 :27
B.39:16
C.8:13
D.1:3
E.NOT




A and B can complete a work in 20 days and 30 days respectively. A works full time but
B works half time. In how many days the entire work is to be completed?

A 3R B Ueh &TH @t 3HA9T: 20 fo 31 30 o7 & a0 st arehd ) A 0T &re &taT &
iR B ST T ShTH ST 2| OY h1el ohl feha ToAT § O REAT 82

A.9 days
B.15 days
C.12 days
D.10 days
E.NOT




Two pipes can fill a tank in 20 and 24 min respectively and a third pipe empty it 7
liter/min. If all three pipes can fill it in 15 min then find the capacity of the tank?

21 QTS Ueh ¢k ohl SHATT: 20 3TR 24 fiee § w1 Terd & 3R 18w aigy 39 7 ey fme
WTAT F TehdT 21 TFE A1 UTeq 39 15 e § s Terd & v 2ok i &1t FiTa shifsru?

A.120
B.280
C.210
D.300
E.NOT




The ratio of incomes of A and B is 3 : 8 and the ratio of their savings is 9 : 25. If the

income of A equals the expenditure of B, then the ratio of expenditures of A and B is ?

A 3R B ST 31T T TUTA 3 : § B ST ITehT I<Id T STAUTA 9 : 25 31 TG A AT AT B h
ST o T 7, A A 3R B o 59T ohT 3TUTT 82

A.3:8

B.6:17
C.5:12
D.7:31
E.NOT




